
Calculating the circumference of a ring 

 
To calculate the circumference of a ring (which is a circle), you need to know either its radius 

or diameter. The formula for circumference is either C = 2πr (where 'r' is the radius) or C = πd 

(where 'd' is the diameter). π (pi) is a mathematical constant approximately equal to 

3.14159.  

 



 

Use a ring sizer gauge to measure your ring size and apply the calculation above to get the 

length of metal needed to make a ring in your size.  

 

For example, if my finger is an R, looking at the ring chart above the ring diameter is 18.5 

mm. Therefore, the calculation for the length of wire needed is 18.5 mm x π(3.14) = 

58.09mm, which I rounded up to 58.1 mm.  

 


